AP Chemistry - Unit 1
Wkst: Limiting Rxn Problems - RICE Table
1. You combust 52.0 g of C2H2 with 125 L of oxygen at 220° C and 0.950 Atm.  How many grams of each of the products will be produced? How many grams of the excess reactant will be left over?
2. How many grams of Lithium Sulfate will be produced after 45.0 g of Lead IV Sulfate reacts with 45.0 g of Lithium Nitrate? How many moles of the excess will be left over?
3. Write the balanced equation for the reaction of 25.0 g of lead (II) nitrate with 45.0 g of sodium iodide.  What is the limiting reagent?  How many grams of sodium nitrate can be formed?  How much non-limiting reagent will be left over from the reaction?

